RIGID PVC CONDUIT FITTINGS

SQUARE MUD BOX, SSBH-10/20 CDN, 089454

ISSUE DATE:

DATE D'EMISSION: 2014 05 20
SUPERCEDES:

REMPLACE: 2003 03 15

[ 30000 —————f—————— 3 —————— =]
f=—— 2000’ —=—t——=—— 2000" —=]

08750 | 06750

[ ]

20.135"

b/ -

."ﬁ"-.

3.426" | 715

20.200"
o'
=l
; I I
' 0.875"
0.875"

a

PART LIST:

Description Part # Qty
6-X5/8 PAN SOC SCREW 072250 4
6X3/4 PAN HEAD SELF TAP SCREW 172220 4
3/4" RETAINERS 091988 4
1/2" RETAINERS 091987 4
SMBH10-15 BODY 097060 1
6-32 REGULAR INSERT 072537 2
6-32 COLLAR INSERT 072536 2
MUD BOX SQUARE CDN HUB/LID 097038 1
HEX COMB GREEN SCREW 072511 1
DOUBLE GANG GROUND CLIP 172191 1

Page: CONDUIT — 100.1



RIGID PVC CONDUIT FITTINGS

SQUARE MUD BOX, SSBH-15/20 CDN, 089471

ISSUE DATE:

DATE D'EMISSION: 2014 05 20
SUPERCEDES:

REMPLACE: 2003 03 15

[ 30000 —————f—————— 3 —————— =]
f=—— 2000’ —=—t——=—— 2000" —=]

[ ]

20.135"

08750 | 06750

b/ -

."ﬁ"-.

20.200"
o'
=l
; I I
' 0.875"
0.875"

a

PART LIST:

Description Part # Qty
6-X5/8 PAN SOC SCREW 072250 4
6X3/4 PAN HEAD SELF TAP SCREW 172220 4
3/4" RETAINERS 091988 4
1" RETAINERS 091989 4
SSB HUB BODY 097038 1
6-32 REGULAR INSERT 072537 2
6-32 COLLAR INSERT 072536 2
MUD BOX SQUARE CDN HUB/LID 097038 1
HEX COMB GREEN SCREW 072511 1
DOUBLE GANG GROUND CLIP 172191 1

Page: CONDUIT - 100.2






